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BUSINESS STATISTICS (BCH 304)
(Sem- 3"%)
(Syll-Dec-2019)
Time: 3 Hrs. Max Marks: 70
Note: Attempt any 4 questions. All questions carry equal marks.

I “Statistics is a body of methods for making wise decision on the face of uncertainty.”
Comment on the statement bringing clearly how does statistics help in business
decision making.

II.  Tllustrate the mathematical properties of Arithmetic Mean.
III.  Differentiate between Correlation and Regression. Discuss the concept of Regression
equations with the help of suitable examples.
IV.  Explain in detail various techniques of Forecasting.
V.  Find the missing values:

Group I II I Combined
Number of items ? 60 90 200
Arithmetic mean 113 120 ? 116
Standard Deviation 6 7 8 ?

VI.  Using 3 yearly moving averages, determine the trend and short-term fluctuations for
the following data.
Year: | 2005 | 2006 | 2007 | 2008 | 2009 | 2010 | 2011 | 2012 | 2013 | 2014
Sale: | 21 22 23 25 24 22 25 26 27 26

VII.  Compute an index number of prices by a suitable method from the data given below.
Also prove that it satisfies both factor reversal test and time reversal test.

Commodity 2015 2016
Price Value Price Value
A 2 20 4 41
B 4 24 4 30
C 6 30 8 40
D 8 40 10 60

VIII.  Find the coefficient of correlation between price and sales from the following data
and interpret its value through probable error:

Price (Rs.): 103 98 |85 |92 90 |84 88 90 93 95
Sales (units): | 500 610 | 700 | 630 | 670 | 800 | 800 | 750 | 700 | 680

IX. Attempt any 10 short answer questions:

a) Limitations of Statistics.

b) The mean salary of 500 employees per day was found to be Rs.150. but later on, it
was found that the salary of two employees Rs.104 and Rs.117 were misread as
Rs.140 and Rs.171. Find the correct mean salary of employee per day.

¢) Define weighted mean.

d) Explain Inter quartile range.

e) Coefficient of variation.



What is value index number?

g) State positive and negative correlation.
h) If regression coefficient of X on Y is -1/6 and that of Y on X is -1/2, what is the
value of correlation coefficient between X and Y.
i) Following is the series of index number taking 2010 as base year:
Year 2010 2011 2012 2013 2014 2015
Index 100 120 135 170 180 210
How would the index numbers be changed if 2011 is taken as base year?
J)  If mode = 35, median = 30, find mean.
k) What are the Essentials of Good Average?

D

What is the need of Forecasting?
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